
Spiel 1 Spiel 2 Gesamt

Spiel 113 13:00 A 1 Brandstetter Karl 54 + 51 = 105

B 2 Langeder Josef 46 + 38 = 84

Spiel 114 13:07 B 1 Aichinger Engelbert 42 + 43 = 85 #

A 2 Gruber Helmut 31 + 52 = 83

Spiel 115 13:14 C 1 Aschauer Franz 41 + 55 = 96

D 2 Gruber Augustine 44 + 35 = 79

Spiel 116 13:20 D 1 Aschauer Rosa 57 + 47 = 104

C 2 Rathgeb Theresia 48 + 44 = 92

Spiel 117 13:27 V 113 Langeder Josef 36 + 48 = 84

V 115 Gruber Augustine 49 + 46 = 95

Spiel 118 13:33 V 114 Gruber Helmut 51 + 44 = 95

V 116 Rathgeb Theresia 45 + 54 = 99

Spiel 119 13:40 S 113 Brandstetter Karl 42 + 50 = 92

S 115 Aschauer Franz 50 + 48 = 98

Spiel 120 13:47 S 114 Aichinger Engelbert 51 + 42 = 93

S 116 Aschauer Rosa 43 + 52 = 95

Spiel 121 13:54 V 117 Langeder Josef 42 + 37 = 79 #

V 118 Gruber Helmut 54 + 37 = 91

Spiel 122 14:00 S 117 Gruber Augustine 47 + 45 = 92

S 118 Rathgeb Theresia 42 + 38 = 80

Spiel 123 14:06 V 119 Brandstetter Karl 51 + 52 = 103 O

V 120 Aichinger Engelbert 42 + 33 = 75

Spiel 124 14:12 S 119 Aschauer Franz 46 + 54 = 100

S 120 Aschauer Rosa 50 + 53 = 103 #


